
Tally and Tot-up 4 

 
 
 

 
Mother badger needs to divide up the worms 

between the cubs for the family dinner. 

 

(Badgers love to eat worms. Yuk!) 

 

Can you help Mum? 
 

 

 

 

 
 

8 worms divided by 4 badgers = 2 worms each 
So: 

1.  12   divided by  2 =  ……….. 

2.  9   divided by  3 = ……….. 

3. 15   divided by  5 = ……….. 

4.  6   divided by  3 = ………… 

5. 50  divided by  10 = ………… 

6.  5  divided by  5 = ………… 

7. 12  divided by  4 = ………… 

8. 40 divided by  10 = ………. 

9. 10  divided by  5 = ……….. 

10. 21 divided by  3 = ………… 
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Bet you can’t do 

these! 

Did you get them right? 

                Well done! 


